06" C509 FLG X FLG 06" C509 FLG X TYTON
. 895 - | 1138 - 8.25 7
Iq:m) (((J:JLI = —ﬁﬁ— ‘ \Iﬂ/ |( 7 )u
T . 511,00 I 17 000 ST
8.75(Ll| 00 Ul 2X ©1.00 HOLES 1 Lle.75
\ E / ) TYTON END: \
sl d (. * ) AWWA C111 * v
8 X 10.88 HOLES 5.50 | 0N - | 5.5
ON ©9.50 B.C. e ~ . 8 X ©0.88 HOLES J i ~ l
FLG END: ON ©9.50B.C. 1.69
ANSI B16.1 — =1.00 FLG END: — 5.44 —450 — — 1.00
CLASS 125 -——10.50—- | ANSIBIE ] 405 - -—7.38— 525
-—12.63——
06" C509 FLG X MJ 06" C509 MJ X MJ
7 -—8.25— | - 895 -
] ] OO ‘ o [ = ‘ M | i
@ @ ] ] 38 V- é.) F_& ,_1 T
8.75[k I | 8.75 [ B = s [
l A ;ﬁ; FLG * l =
4 X ©0.88 HOLES £ 4o | 5 50 4X $0.88HOLES  5.69 =
8 X (10.88 HOLES 2 X $0.88 SLOTS il 5 il | 2 X )0.88 SLOTS e L
ON ©9.50B.C. ON ©»9.63 B.C. | L | ON ©9.63 B.C. 799 N
FLG END: MJ END: 1.19— — ~1.00 | MJ END: '
ANSI B16.1 ANSI A21.11 T19.25 0.5 ANSI A21.11 - 1050 -
CLASS 125 AWWA C111 - 10.50 - AWWA C111 '
06" C509 TYTON X TYTON 06" C509 PVC X PVC
—11.38— ——8.25— | -——11.38— -—8.25—-
®900 -' ='T '\\7 ‘ (f { in | @850 —] — ‘ i 47,& in
/l“L 8.75 . 8.75 || _ o
A\ ! ' I
v f \v
é - % @ | PVC END: | %%
R - AWWA C111 =
| 4.50 | 4.25
2 X_(1.00 HOLES i ' ;
. 1088 - TYTON END: 443 - 1 49 1 49—--
' AWWA C111 ' ‘ i -—15.75
- 1250 - A
ﬁ:ﬂéﬁi'ﬁf iﬁ" = " :WM;; WFGH%S;S?%&O A !_EBS. WEDG? :(;ATE VAL:VSZ‘I\idfvﬂ«orks 2018 SP2 S%OF SHBIZE 21




06" C509 MJ X TAP

}

11.38 - -—8.25 -

i S SR S <7
©11.38 8 75 / 6 )X -0.25

©11.00

<

(G,

O
—_—

4 X ©0.88 HOLES 5 50

8 X (0.88 HOLES 2 X 0.88 SLOTS il = e
ON ©9.50B.C. ON ©9.63B.C. ~ \

7
N

FLG END: MJ END:
ANSI B16.1 ANSI A21.11 -——1.19 1.00
CLASS 125 AWWA C111 10.50

[}
||

|

20

21

THIRD ANGLE PROJECTION.
STANDARDS: ANSI/ASME Y14.100, Y
TOLERANCES AS FOLLOWS UNLESS

PROPERTY OF MCWANE CORPORATION.
14.5M, AND Y14.41
OTHERWISE SPECIFIED.

DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE

CASTING TOLERANCES

0-4": +1/32"

48" £3/64' 06" C509 NRS GEARED RESILIENT
8-12": +1/16 + . ESTIMATED WEIGHT

12-18": +3/32" SURFACE FINISH: 125 pin . WEDGE GATE VALVE

18-UP™: +1/8" SOFTWARE USED

MR RADRS: e 1:5 Solidworks 2018 SP2

MACHINED DIMENSIONS




O P R S T
1
2
3
[ = —— e e
4
5
—
6 8 ° 3 O
-—6.01—
L]
7
—] |
) 1
1 !
1 {
2 17
1
: / .
W rd| INY =
[[ &S -
4
| c— : | ~— I
10 2 4 7 O
L]
2 2 ° O 5 [5] |
11 |
12 7 . |
[ [
/, /, \\
— — — ' ]
13 .| 3 4 .|
L]
15
‘ 1 1 . . ! i !
Q |
17
18
19
20
[ROUGH PT NO. INISHED PT NO
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [P RFFERENCE REVISION
— CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED. AL RIGHTS RESERVED C
0.4 MATERIAL DESCRIPTION
DECIMALS: +0.005 M&H VALVE COMPANY
2’?24 FRACTIONS:  +1/64 06" C509 NRS GEARED RESILIENT
112" ANGLE: +1° ESTIMATED WEIGHT SHEET SIZE
R s SURFACE FINISH: 125 i L BS.| WEDGE GATE VALVE 3
18.UP": RADII: 1/8" M SHEET OF D
; DRW BY: DATE DRAWN:  |CHK. BY CHK DATE SHEET SCATE SOFTWARE USED
MIN RADIUS:

MIN DRAFT:

Cw 10/01/2020

1:5

Solidworks 2018 SP2

8




20

BEVEL GEAR WITH OPERATING NUT

11.30
9.53

24,

/0

22

.05

17

:
I

AS

J

34
13.

|T“'—'II

I
L

an

21.55

SPUR GEAR WITH OPERATING NUT

20.

/7

=

M

i

[ ’, I

-

] ] L] ; 2
|
I ]
AN 17 ‘
|
% rd| INY =
[ O /
e
| [ |
2 : L ] 6 3
2 5 [ ] 8 6
INISHED PT NO
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [P RFFERENCE (EVDION
CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED ALL RIGHTS RESERVED C
0-4": +1/32" MATERIAL DESCRIPTION
N DECIMALS: +0.005 " M&H VALVE COMPANY
2’?2' i?ﬁ‘é‘ FRACTIONS:  %1/64 06" C509 NRS GEARED RESILIENT
-12" E " ANGLE: *1° ESTIMATED WEIGHT SHEET SIZE
1218 £3/32" | SURFACEFINISH: 125 pin LBS.| WEDGE GATE VALVE 4
18.UP™ £ 1/ RADII: 1/8" N SHEET OF
MIN RADILS: . DRW BY: DATE DRAWN: __ |CHK. BY CHK DATE SHEET SCALE ] 5 SORTARE D
MIN DRAFT: 2 CwW 10/01/2020 . Solidworks 2018 SP2 8




20

21

BARE STEM ASSEMBLY

20.72

\

8.75

17.34

STANDARD FA10
MOUNTING

4 X ©0.44 HOLES
ON ©4.00B.C.

0.25

\\\—_4

@ 1.00 STEM

BARE STEM MOUNTING FLG

THIRD ANGLE PROJECTION.

14.5M, AND Y14.41
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED.

MACHINED DIMENSIONS

STANDARDS: ANSI/ASME Y14.100, Y
CASTING TOLERANCES
04" o DECIMALS: +0.005
48" +3/64" FRACTIONS:  +1/64
812" +1/16" ANGLE: +1°
12-18": +3/32" SURFACE FINISH: 125 pin
18-UP": 178" RADI: 178
MIN RADIUS: 1/8"
MIN DRAFT: 2

PROPERTY OF MCWANE CORPORATION.
ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO

MCWANE CORPORATION AND [TS SUBSIDIARIES.

DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS

OTHERWISE ARRANGED.

ALL RIGHTS RESERVED

ROUCH PT RO, FIRISHED PT NG
[SK REFERENCE [REVISION

M&H VALVE COMPANY

MATERIAL DESCRIPTION

06" C509 NRS GEARED RESILIENT
ESTIMATED WEIGHT LBS. WEDGE GATE VALVE
“ew |ojory2000) B R B “Solidworks 2018 SP2

5 SHEET SIZE

SHEET OF D




Q R S U
1 1
’ 2
’ 3
’ 4
’ 5
6 @ )
| - /@ |
’ 8
’ 9
10 o
11 .
12 12
13 ~\
14
16
17
I
18
19
20
T T
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS ANG DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCW, “ORPORATIC SSU . S S
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UN LESS [P* REFERENCE (EVDION
CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRAN CED- ALLRIGHTS RESERVED C
0-4"; +1/32" RAATERIAT DESCRIPTION
! DECIMALS: +0.005 M
2'?2' 1?;?‘6‘ FRACTIONS:  +1/64 06" C509 NRS GEARED RESILIENT
12 £1/16' | ANGLE: +1° ESTIMATED WEIGHT
1218 £3/32" | SURFACEFINISH: 125 pin LBS.| WEDGE GATE VALVE 6
.| RADI : 18" .

18-UP": 18 - - — — | SHEETOF

N RADIL . g BRW BV SATE DRAWN.  [CFK. BY CAR DATE e SCAE 12 SOFTWARE UeED

MIN DRAFT: 2 CW 10/01/2020 . Solidworks 2018 SP2




I ‘ I : I ' I

VALVES CONFORM WITH THE
ITEM NO. COMPONENT QITY.  SIZE STANDARD MATERIAL MATERIAL OPTIONS e oAb PARDS
* NSF 41
e LOW ZINC BRASS STEM AND STEM NUT
1 BODY 1 - DUCTILE IRON - AVAILABLE
* 100% DOMESTIC FASTENERS AND
2 WEDGE 1 - EPDM/DUCTILE IRON : ORINGS OPTIONS AVAILABLE
R N W o el gy + OPEN 67T (COUNTERCLOCKMI
OPTIONS AVAILABLE
6 COVER 1 : DUCTILE IRON - * TURNS TO OPEN FROM FULLY CLOSED:
20
e AWWA MAXIMUM ALLOWABLE
7 MR e N | - COLD ROLLED STEEL - CLOSING TORQUE 110 FT-LBS INTO
GEAR
8 STEM NUT ] - C87850 C87610 (LOW ZINC) * OPTIONAL HANDWHEEL CAN BE
SUBSTITUTED FOR STANDARD 2" SQUARE |
9 O-RING 1 #445 EPDM BUNA-N OP. NUTS.
» **NOTE: STANDARD HANDWHEEL SIZE
10 O-RING 1 #335 EPDM BUNA-N
LISTED OUT IN PARTS LIST ** :
11 STEM KEY 1 1/4"X21/2" 18-8 SS 316 SS
* MAXIMUM PRESSURE RATING 250 PS|
12 HEX HEAD CAP SCREW 4 3/8-16 X 1" 18-8 SS 316 3S
13 BEVEL GEAR 1 - - SPUR GEAR
14 OPERATING NUT 1 - DUCTILE IRON C86700, **10" DIA. HANDWHEEL**
15 COILED SPRING PIN 1 10MM X 45MM 18-8 SS 316 3SS
16 HEX HEAD CAP SCREW 6 5/8-11 X2 1/4" 18-8 SS 316 SS
17 HEX NUT 4 5/8"-11 18-8 SS 316 3S
18 HEX NUT 2 5/8"11 18-8 SS 316 SS I ®
o1z Sj;: SGCLE:SS g EEEEEEEEEEEEEEEE LBS.| WEDGE GATE VALV 7 [

_UP": +1/8 | RADM o8 | SHEETOF
MIN RADIUS e PR : |DATE DRAWN : CHK.BY ~ |CHKDATE : SHEET SCALE . SUZM/«IT EEEEE D
‘ » CW  |10/01/2020 1:10 Solidworks 2018 SP2 | 8

MIN DRAFT:






